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Question 1 For S = 1, T = 2, a = 3, how many triangles are there in the
following configuration?

A 0.

B 1.

C 2.

D 3.

Question 2 For S = 1, T = 2, a = π
3 , what is the area of the following trian-

gle?

A
√
3
2 .

B 2.

C 1
2 .

D
√
2
2 .
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Question 3 Describe all the values of x for which it is true that cos(x) = 0.

A kπ
2 for k an odd integer.

B kπ
2 for k an even integer.

C kπ
2 for k an integer.

D kπ for k an integer.

Question 4 Solve the equation | tan(x)| = 1 for all possible values of x.

A kπ
4 for odd k.

B kπ
4 for even k.

C No solutions.

D π.
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